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Direction: (For Q no 1-6) Arrange the words in the correct order to form meaningful sentences: 
1. Masterpiece / artist / painstakingly / the / his / worked at 
  (1) The artist painstakingly worked at his masterpiece 
  (2) Painstakingly the artist worked at his masterpiece  
  (3) At his masterpiece worked by the painstakingly artist  
  (4) His masterpiece at worked by the painstakingly artist 
2. Parts / many / coffee / popular in /world/ the / is / very / of 
  (1) The coffee is very popular in many parts of world  
  (2) In many parts of the world coffee is very popular  
  (3) Coffee is very popular in many parts of the world 
  (4) In the many parts of world coffee is very popular 
3. To / the company / goods / Vietnam /exports 
  (1) To Vietnam the company exports goods (2) To Vietnam exports goods the company 
  (3) The company good exports to Vietnam (4) The company exports goods to Vietnam 
4. Cave / could / explore / not/they/torch /the / without/a 
  (1) They not explore the cave could without a torch 
  (2) They could not explore the cave without a torch  
  (3) Without a torch they could not explore the cave  
  (4) A torch without they could not explore the cave 
5. The storm /shed / damaged / the /was / during 
  (1) The shed was damaged during the storm (2) The shed during the storm was damaged
  (3) During the storm the shed was damaged (4) The shed damaged was during the storm 
6. Brother/ an/ wants /be/my/ astronaut /to 
  (1) An astronaut wants to be my brother (2) An astronaut wants my brother to be
  (3) My brother wants to be an astronaut (4) Brother my wants to be an astronaut 
 
Direction (For Q no 7-13) Identify the parts of speech of the underlined words: 
7. Laughter is the best medicine. (Identify the kind of noun for “laughter”) 
  (1) Proper Noun   (2) Common Noun   
  (3) Abstract Noun   (4) Collective Noun  
8. The photo frame was black and had a picture of Queen Victoria 
  (1) Noun  (2) Pronoun  (3) Adjective  (4) Verb 
9. Hurrah! We have won the match 
  (1) Preposition (2) Interjection (3) Conjunction (4) Adverb 
10. The old man shouted angrily at the noisy children 
  (1) Noun (2) Pronoun (3) Verb (4) Adverb 
11. Anushka bought a beautiful dress from the mall 
  (1) Adverb (2) Verb (3) Preposition (4) Adjective 
12. What did she ask you to do? 
  (1) Noun (2) Pronoun (3) Verb (4) Adverb 
13. I want to go to a university in the United States 
  (1) Noun (2) Pronoun (3) Adjective (4) Adverb 
 
Directions (For Q no 14-16) Choose the antonym of the following words: 
14. Choose the antonym of “detachment”. 
  (1) Removal (2) Attachment (3) Increase (4) Praise 
15. Choose the antonym of “ancient”. 
  (1) Old (2) Antique (3) Modern (4) Prehistoric  
16. Choose the antonym of “bold”. 
  (1) Brave (2) Timid (3) Incredible (4) Courageous 
 
 
 

ENGLISH
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Direction: (For Q no 17-18) Choose the synonym of the following words: 
17. Choose the synonym of “fragile”. 
  (1) Valid (2) Strong (3) Delicate (4) Frank 
18. Choose the synonym of “scheduled”. 
  (1) Backward (2) System (3) Unseemly (4) Listed 
 
Directions (for Q no 18-19) Choose the meaning of the underlined words: 
19. I am a master of contemporary fashion 
  (1) Modern (2) Old fashioned (3) Differ (4) Early 
20. After the century of Virat Kohli, I feel elated  
  (1) Depress (2) Miserable (3) Sad (4) Happy 
 
 
 
 
21. Which of the following is the reproductive organ of flowering plants? 
 

 
  (1) Stem /   (2) Roots / /   
  (3) Flowers /   (4) Leaves / /  
22. How many bones are there in a human body? 
 
  
  (1) 220 (2) 206 (3) 200 (4) 180 
23. The muscle responsible for heart beat?  
 
  
  (1) Smooth /   (2) Cardiac /   
  (3) Skeletal / /   (4) Both 1 and 2 / 1 2 / 1 2  
24. The organ of the body responsible for controlling different activities of body? 
 
  
  (1) Brain /   (2) Heart /   
  (3) Lungs / /   (4) None of these / /  
25. The food containing all the essential nutrients in proper amount is known as – 
 
  
  (1) Starchy food /  /  (2) Balanced diet /   
  (3) Fast food / /  (4) Fatty food /  
26. Which of the following doesn’t possess a fixed volume? 
 
  
  (1) Solid /  /   (2) Liquid / /   
  (3) Gas / /   (4) Both 2 and 3 / 2 3 / 2 3  
27. A seed contains –___________ 
 ___________ / ___________
  (1) Seed leaves /   (2) Baby plant / /   
  (3) Plasma /   (4) Both 1 and 2 / 1 2 / 1 2  
28. Which of the following part of a plant appears first? 
 
  
  (1) Stem /   (2) Root / /   
  (3) Leaves / /   (4) All of these / /  
 

GENERAL SCIENCE / / 
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29. Which of the following correctly describes a bone marrow? 
 

 
  (1) Inside portion of a bone / /   
  (2) Outer portion of a bone / /   
  (3) Both 1 and 2 / 1 2 / 1 2   
  (4) None of these / /  
30. Bones are held together by – 
 ___________
 ___________  
  (1) Ligaments / /   (2) Tendon / /   
  (3) Both 1 and 2 / 1 2 / 1 2  (4) None of these / /  
31. Which of the following joints allows movement in several directions? 
 
  
  (1) Hinge joint / /   
  (2) Ball and socket / /   
  (3) Pivot joint / /    
  (4) Sliding / /  
32. Name the instrument used for listening heartbeat – 
 
  
  (1) Telescope / /   (2) Stethoscope / /   
  (3) Microscope /   (4) Barometer / /  
33. Which gas is necessary for burning?   
 
  
  (1) 2O  (2) 2CO  (3) 2NO  (4) CO  
34. The instrument used for measuring earthquake on Richter scale is – 
 
  
  (1) Barometer / /  (2) Seismograph /   /    
  (3) Ammeter / /  (4) Voltmeter / /  
35. The outermost layer of earth is called? 
 
 __________  
  (1) Crust /   (2) Mantle / /  
  (3) Core /   (4) All of these / /  
36. Earthquake is caused by – 
 __________ / __________
  (1) Shaking of earth / /   
  (2) Shaking of river / /   
  (3) Shaking of trees / /   
  (4) None of these / /  
37. What is the full form of LPG? 
 LPG
 LPG  
  (1) Liquefied Petroleum Gas / /   
  (2) Low Petroleum Gas / /   
  (3) Light Petroleum Gas / /    
  (4) None of these / /  
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38. Which of the following is known as sunshine vitamin? 
 
  
  (1) Vitamin A / A  (2) Vitamin D / D  
  (3) Vitamin C / C  (4) Vitamin E / E 
39. Which nutrients help to build our body? 
 
  
  (1) Proteins / /   (2) Fats /   
  (3) Vitamin /   (4) Minerals /  
40. Which of the following is the largest planet of our solar system? 
 
  
  (1) Saturn /   (2) Jupiter /   
  (3) Neptune /   (4) Pluto /  
41. Which of the following chemical increases the fertility of soil? 
 
  
  (1) Pesticides /    
  (2) Tranquilizers /  
  (3) Fertilizers / /    
  (4) Herbicides / /  
42. Shortage of food and water results in – 
 __________
 __________  
  (1) Famine /   (2) Flood / /  
  (3) Earthquake /   (4) Cyclone/ /  
43. Which is not a type of simple machine? 
 
  
  (1) Spring / ×&Òe  (2) Screw /   
  (3) Pulley /   (4) Wedge / /  
44. Which of the following best describes a work?  
 
  
  (1) It is an energy from the sun / /   
  (2) It is a force that moves an object   
       /  
  (3) It is a type of energy / /   
  (4) It is a force that pulls us towards the earth / /  
         
45. Which of these is not an example of an inclined plane? 
 
  
  (1) Ladder / /   (2) Stairs / /   
  (3) Wall / /   (4) Driveway / /  
46. The natural home of an organism is known as – 
 __________

 
  (1) Forest / /   (2) Habitat /   
  (3) Palace / /   (4) None of these / / 
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47. The changes and development of body habit, which helps an animal to survive is – 
 
  
  (1) Training /   (2) Adaptation /    
  (3) Exercise /   (4) Adjustment /  
48. The natural home of animals living in water bodies is known as – 
 _________
 _________  
  (1) Terrestrial habitat /   
  (2) Aquatic habitat /    
  (3) Amphibian habitat / /   
  (4) Arboreal habitat /  
49. Which of the following adaptation in animals helps them to cop-up unfavourable conditions during winter season? 
 
  
  (1) Hibernation /    
  (2) Migration /  
  (3) Both 1 and 2 / 1 2 / 1 2    
  (4) None of these / /  
50. Which of the following type of nutrition is seen in human beings? 
 
  
  (1) Holozoic / /  (2) Saprophytic / /   
  (3) Parasitic / /   (4) Autotrophic /  
51.     Which of the following type of nutrition is generally seen in Plants – 
 
  
  (1) Autotrophic /                 (2) Heterotrophic / /                   
  (3) Parasitic /  /                        (4) Holozoic / /  
52.     Which planet is known as the “Evening Star” or “Morning Star” and is often visible in the evening or morning sky? 
 
  
  (1) Venus /                        (2) Earth /  /                                         
  (3) Mars /                           (4) Saturn / 
53.  What is the process of water falling from the clouds in the form of droplets called? 
 
  
  (1) Precipitation / /           (2) Rainfall /                   
  (3) Both 1 and 2 / 1 2 / 1 2             (4) None of these / /  
54.  What is the name of the closest star to Earth? 
 
  
  (1) The Sun /                    (2) Pulsating star /  /               
  (3) Neutron star / /                          (4) The Moon /    
55. 21 March is celebrated as_______________ 
 21 _______________   
 21 _______________

(1) International Day of Forests / /                    
  (2) Teacher’s Day /  /              
  (3) Lachit Divas / /                       
  (4) World Environment Day / /    
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56.  What is the smallest bone in the human body? 
 
  
  (1) Stapes bone in the ear /  /        
  (2) Femur / /   
  (3) Tibia /     
  (4) Patella / /  
57.  Which gas is responsible for the Earth’s ozone layer that protects us from harmful ultraviolet (UV) rays? 
 (UV) 

(UV)  
  (1) Nitrogen / /              (2) Oxygen /                     
  (3) Ozone (O3) / (O3) / (O3)                              (4) Helium /  
58.  What is the process of the moon going through its various phases, such as crescent, half, and full? 
 
  
  (1) Solar Eclipse /     (2) Lunar phases /  /              
  (3) Solar Phases /  /             (4) None of these / /  
59.  Which gas is most abundant in Earth’s atmosphere? 
 
  
   (1) Oxygen (O2) /  (O2)     (2) Fluorine (F2) / (F2) / (F2)             
  (3) Nitrogen (N2) / (N2)             (4) All of these / /  
60.  Which planet is known as the “Red Planet”? 
 
  
  (1) Mars /                     (2) Jupiter /                      
  (3) Saturn /                       (4) Neptune /   
61.  What is the process of soil particles being carried away by wind or water called? 
 
  
  (1) Diffusion /  /                   (2) Flood / /                                          
  (3) Land slide / \Éö×]–_X           (4) Erosion / /  
62. What is the largest organ in the human body? 
 
  
  (1) Skin /  /                                        (2) Heart /  /                                          
  (3) Lungs /  /                      (4) Kidneys /   
63. What is the process of a liquid turning into a solid called? 
 
  
  (1) Evaporation /  /          (2) Condensation /  /             
  (3) Sublimation /              (4) Freezing /  
64.  Steering wheel is an example of – 
 ________
 ________
  (1) Pulley /                   (2) Inclined plane / /                
  (3) Wheel and axle / /            (4) All of these / /  
65.  Pulley is a ___________ machine. 
 ___________
 ___________
  (1) Simple / /                            (2) Complex /                                
  (3) Big /  /                                                  (4) None of these / /  
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66.  The distance between the load and the fulcrum is called – 
 
  
  (1) Load arm /                          (2) Effort arm /                            
  (3) Fulcrum /  /      (4) All of these / /  
67.  The force that is used to move an object is called – 
 
  
  (1) Effort /                      (2) Fulcrum /  /                                 
  (3) Load / /                                              (4) None of these / /  
68.  Water __________ flows from a higher to a lower level – 
 __________ 
 __________  
  (1) Sometimes / /                 (2) Always / /                      
  (3) Both 1 and 2 / 1 2 / 1 2           (4) None of these / /   
69.  Water, milk and juice are examples of – 
 _________
 _________  
   (1) Solid /                   (2) Liquid / /                                        
  (3) Gas /  /                       (4) All of these / /   
70.   A gas is also considered as liquid, because – 
 
 
   (1) It has the ability to occupy the volume of a container completely 
        /  
   (2) It has the ability to flow / /  
   (3) It has a fixed mass / /  
   (4) All of these / /  
71.  Fruits and vegetable peels, meat and bones, flowers and paper are __________ waste. 
  __________
 _________  
  (1) Biodegradable / /               
  (2) Non-biodegradable / /         
  (3) Both 1 and 2 / 1 2 / 1 2                
  (4) None of these / /  
72.  Aeriated drinks, sweet and sticky food is __________ for teeth. 
 __________
 __________  
  (1) Good /  /       (2) Important /  /                     
  (3) Bad / /                   (4) None of these / /  
73.  We have __________ sense organs. 
 __________
 __________
  (1) Five /                            (2) Three / /                            
  (3) Six /                    (4) Four /  /  
74.  Which of the following is responsible for the continuous heating and cooling of rocks that finally forms soil – 
 
  
  (1) Air and water / /                                          
  (2) Sunlight and rain / /                  
  (3) Plants and algae / /                                       
  (4) Plants and animals /  /                                   
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75.  What causes rocks in a stream to become smooth – 
 
  
  (1) Weathering / /            
  (2) Water currents /  /            
  (3) Earthquakes /            
  (4) Movement of fish /  /  
76.  Fossil fuel are usually found – 
 _________
 _________  
  (1) In the atmosphere / /                                                                                 
  (2) Below the ground / /  
  (3) At the bottom of the ocean / /            
  (4) Both 2 and 3 / 2 3 / 2 3  
77.  Lava cools to form – 
 _________
 _________
  (1) Igneous rocks / /                                                                                                 
  (2) Sedimentary rocks /  /  
  (3) Metamorphic rocks / /                                                                           
  (4) Sandstones / /  
78.  Which of these can be mined from earth and used as an energy source – 
 
  
   (1) Coal /                         (2) Gravel /  /                                       
  (3) Granite /  /                   (4) Limestone /  /  
79.  Pumice is formed when lava from volcano cools. Which type of rock is pumice? 
 
  
  (1) Gaseous rock /  /            
  (2) Igneous rock /  /                
  (3) Sedimentary rock / /   
  (4) Metamorphic rock / /   
80.  Which of the following are called building blocks of rocks? 
 
  
  (1) Sand particles /  /        (2) Minerals /                  
  (3) Pebbles /  /                 (4) Stones / /   
 
 
 
81. How many thousands make a crore? 
 1 

1   
  (1) 10 (2) 100 (3) 1000 (4) 10000 
82. How many whole numbers are there up to 1000? 
 1000 
 1000  
  (1) 1001 (2) 1000 (3) 100   (4) 999  
83. Find the value: (–42) + (–35) = 
 (–42) + (–35) 
 (–42) + (–35)   
  (1) –7 (2) 7 (3) –77 (4) 41 

GENERAL MATHEMATICS  / /  
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84. The 5th multiple of 18 is -  
 18 5 
 18 5  
  (1) 80 (2) 90 (3) 72 (4) 180 

85. The improper fraction for 13
3

  

 13
3

 

13
3

  

  (1) 10
3

 (2) 3
10   

 (3) 1
3

 (4) 3
1

 

86. Arrange in ascending order: 3, (–3), 2, 0, (–4) 
 3, (–3), 2, 0, (–4) 

3, (–3), 2, 0, (–4)  
  (1) 0, 2, (–3), 3, (–4)   (2) (–3), 3, 0, 2, (–4)  
  (3) (–3), 0, 2, 3, (–4)  (4) (−4), (−3), 0, 2, 3 
87. A right angle measures-   
 
  
  (1) 60° (2) 120° (3) 180° (4) 90° 
88. The correct statement among the following is -  
 
  
  (1) –9 = 9 (2) 1 + 0 = 0 (3) 0 < 3  (4) 11 ÷ 0 = 0 
89. Which number is neither prime nor composite? 
 
  
  (1) 2 (2) 3 (3) 5 (4) 1 
90. Name the larger angle in the pair. 
 

 

 
  (1) UVW∠  (2) XYZ∠  (3) Z∠  (4) U∠  
 

91. Sheena bought 1
5

kg of sugar and 1
3

kg of rice. What was the total weight of ingredients bought by her?  

 1
5

kg 1
3

kg

1
5

kg 1
3

kg  

  (1) 1
5

  (2) 8
15

  

  (3) 1
3

  (4) None of these / /  
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92. Which of the following number is divisible by both 5 and 10? 
 5 10   
 5 10  
  (1) 1003 (2) 1307 (3) 1300 (4) 1013 
93. The number that is divisible by 2 is: 
 2 
 2   
  (1) 791 (2) 790 (3) 917 (4) 971 
94. Angles are measured in__________. 
 __________
 __________  
  (1)  Degrees /    (2) m /  (3) km /  (4) gm /  
Look at the figure given below and answer the question from Q.95 to Q 97. 

95 97 
95 97  

 
95. Total no. of triangles in the given figure is  
 
  
  (1) 3 (2) 4 (3) 10 (4) 9 
96. The triangle having PR as its side is  
 PR
 PR  
  (1) PQS∆   (2) SQR∆   
  (3) RPS∆   (4) None of these / /  
97. SQR∠ is an angle of the triangle 
 SQR∠
 SQR∠
  (1) SQR∆   (2) SPR∆   
  (3) SPQ∆   (4) None of these / /  

98. The value of 3 1
18 18

− is  

 3 1
18 18

−
 

  

 3 1
18 18

−
 

 

  (1) 1
9

 (2) 9 (3) 1
18

 (4) 5
18

 

99. The reciprocal of 7 is    
 7 

7  
  (1) 7  (2) 7−   

  (3) 1
7

  (4) None of these / /  
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100. The fraction 3
10

 can be expressed in decimal as - 

 3
10  
3

10  
 

  (1) 0.10 (2) 0.3 (3) 3.0 (4) 0.03 
101. Estimate the sum: 38 + 21 =______  
 38 + 21 =______
 38 + 21 =______  
  (1) 60 (2) 50 (3) 40 (4) 55 
 
102. 0.002 + 9.01 + 4.9 = ? 
  (1) 13.012 (2) 13.129 (3) 13.912 (4) 3.912 
103. The largest chord of a circle is its 
 

 
  (1) Radius /   (2) Diameter /   
  (3) Circumference / /  (4) None of these / /  
104. Which of the following statement is shown by the given number line? 
 
  

 
  (1) 8 – 5 = 3 (2) 8 – 3 = –5 (3) 8 – 3 = 5 (4) 3 + 8 = 11 
105. The greatest number that will divide both 10 and 18 is  
 10 18 
 10 18  
  (1) 4 (2) 2 (3) 5 (4) 3 

106. Mixed fraction for 5
3

 is –   

 5
3  
5
3  

  (1) 21
3

 (2) 22
3

 (3) 23
3

 (4) 24
3

 

107. In roman numerals ‘L’ represents 
 L
 L  
  (1) 5 (2) 10 (3) 100 (4) 50 
108. The correct one is - 
 
  
  (1) I + X = IX (2) L – X = LX (3) C – L = LC (4) D – C = CD 
109. 499 can be written as 
 499 ______
 499 ______  
  (1) ID  (2) CCCCXCXI  
  (3) CCCXCIX  (4) None of these / /  
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110. XCI in Hindu – Arabic numerals is - 
 XCI
 XCI
  (1) 81 (2) 91 (3) 61 (4) 59 
111. 3000000 + 30000 + 300 + 3 in short form is - 
 3000000 + 30000 + 300 + 3 
 3000000 + 30000 + 300 + 3  
  (1) 330300  (2) 3030303  
  (3) 3003303  (4) None of these / /  
112. The greatest 5 digit number using 3, 4, 5 and 6 repeating – 4 twice is  
 3, 4, 5 6 4 

4 3, 4, 5 6  
  (1) 56443 (2) 65443 (3) 56434 (4) 65434 
113. How many 4 - digit numbers are there in all? 
 4 
 4  
  (1) 900 (2) 9000 (3) 9001  (4) 1000 
114. Ten crore in number is: 
 
  
  (1) 10000000  (2) 100000000  
  (3) 1000000  (4) None of these / /  
115. 503851 + 25939 is – 
 503851 + 25939 / 503851 + 25939   
  (1) 763241 (2) 529709 (3) 529790 (4) 528790 
116. The difference of two numbers is 8475682. If the larger number is 9053821, find the smaller number. 
 8475682 9053821 
 8475682 9053821  
  (1) 587139 (2) 578139 (3) 931857 (4) 781539 
117. The L.C.M of 9 and 11 is -  
 9 11
 9 11  
  (1) 9 (2) 11 (3) 99 (4) 90 
118. The smallest digit by which ∗  is to be replaced so that 357∗ 2 is divisible by 3 is – 
 357∗ 2 ∗ 3
 ∗ 357∗ 2 3  
  (1) 0 (2) 4 (3) 1 (4) 7 
119. The smallest 1- digit odd prime number is – 
 1- 
 1- 
  (1) 3 (2) 2 (3) 5 (4) 7 
120. The prime factorization of 150 is – 
 150 

150  
  (1) 3 × 5× 5 (2) 2×5×5 (3) 2×3×5×5 (4) 2×3×5 
 
 
 
 
121. Which word will best complete the relationship given below? 
 
  
  Square : Perimeter : : Circle : ? / : : : : / : : : :     
  (1) Surface area / /  (2) Diameter /   
  (3) Volume /   (4) Circumference / /  

REASONING / / 
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122. If in a certain language ‘PENSION’ is coded as ‘NOISNEP’, how is ‘FOLIAGE’ coded in that code?  
 ‘PENSION’ ‘NOISNEP’ ‘FOLIAGE’ 
 ‘PENSION’ ‘NOISNEP’ ‘FOLIAGE’  
  (1) EGAILOF  (2) EGAIFOL  
  (3) FPIALGE  (4) None of these / /  
123. Find the ODD one out from the given options.  
 
  
  (1) January / /   (2) April /   
  (3) July /   (4) December / /  
124. If 4 @ 2 = 42 and 5 @ 3 = 53 then 6 @ 8 will be –  
  4 @ 2 = 42 5 @ 3 = 53 6 @ 8 

 4 @ 2 = 42 5 @ 3 = 53 6 @ 8    
  (1) 86 (2) 48 (3) 68 (4) 14  
125. If B = 2 and CAB = 6 then DOG will be –   
 B = 2 CAB = 6 DOG

B = 2 CAB = 6 DOG    
  (1) 26 (2) 24 (3) 27 (4) 25 
126. The square root of 16 will be –  
 16  
 16   
  (1) 4 (2) 8 (3) 2 (4) 16   
127. How many days are there in y weeks y days? 
 y y
 y y  
  (1) 7y2 (2) 7y (3) 8y (4) 14y 
128. Find odd one out. 
 
 
  (1) Rectangle /   (2) Triangle /   
  (3) Circle /   (4) Cuboid /  
129. How many zeros in 1 billion?  
 1 

1  
  (1) 6 (2) 7 (3) 8 (4) 9 
130. Study the number pattern below. What is the missing number? 
 

 
  (1) 41 (2) 42 (3) 22 (4) 33  
131. Complete the following pattern. 
 
  
  8223, 8123, 8023,______,______   
  (1) 7023, 6923 (2) 7232, 7132 (3) 7923, 7823 (4) 8323, 8423  
132. Find the next letter of the following series: 
 
  
  A, C, E, G, ?   
  (1) K (2) J (3) H (4) I  
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133. The fraction of unshaded part is –   
 
  

  (1) 
2
3

 (2)

134. Find the odd pair 
 
   
  (1) Cat : Kitten / :
  (2) Cow : Calf / : 
  (3) Pig : Pigeon / : 
  (4) None of these / / 
135. If ABC : CBA, then PQR : ? 
 ABC : CBA PQR : ? 
 ABC : CBA PQR : ?  

  (1) RPQ (2) RQP
136. How many triangles are there in the given figure?
 
 

  (1) 3 (2)
137. What will be the mirror image of ‘PEN’
 PEN
 PEN
  (1) (2)
138. Four books are kept in a column, one above the other. Maths book is kept above English book. science book is kept 
 below German book. Which book is kept 
 

 

  (1) English / /   
  (2) Science /   
  (3) German /   
  (4) Cannot be determined / 
139. If MONDAY = 1, TUESDAY = 2, then THURSDAY = ?
 = 1 = 2
 = 1 = 2
  (1) 3 (2) 4
140. How many meaningful three letter English words can be formed with the letters WNO using each letter only once 
 in each word? 
 WNO
 WNO
  (1) One /   
  (3) Three / /   
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(2) 
1
3

 (3) 
1
2

 

/ :   
/ :   
 / :   

 

(2) RQP (3) QRP 
w many triangles are there in the given figure? 

 

 
(2) 5 (3) 4 

What will be the mirror image of ‘PEN’  

 
(2) (3) 

Four books are kept in a column, one above the other. Maths book is kept above English book. science book is kept 
below German book. Which book is kept at the bottom? 

  
  

  
/  

If MONDAY = 1, TUESDAY = 2, then THURSDAY = ? 
= ? 

= ?  
(2) 4 (3) 5 

How many meaningful three letter English words can be formed with the letters WNO using each letter only once 

 (2) Two /  
 (4) None of these / 

12-2024        /     Set – A     /    VI 

 

 (4) 
3
2

  

  

  

 (4) STU 

 (4) 6 

 (4)  
Four books are kept in a column, one above the other. Maths book is kept above English book. science book is kept  

  
 (4) 6 

How many meaningful three letter English words can be formed with the letters WNO using each letter only once  

  
  

/  
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141. Find the missing number –  
 
  
  2, 6, 10, 14, ?, 22   
  (1) 16 (2) 18
142.  If ‘÷’ means ‘+’, ‘–’ means ‘×’ then 20 ÷ 4 
 ‘÷’ ‘+’ ‘–’ ‘×’
 ‘÷’ ‘+’ ‘–’ ‘×’
  (1) 24 (2) 28
143. The area of a square is 16 cm2 then its perimeter
 16  
 16 
  (1) 4 (2)
144. I am a two-digit odd number, I am a common multiple of 3 and 7 and I 
 
 3 
  (1) 28 (2) 21
145. Which of the following Roman numerals is equal to 166?
 166 
 166 
  (1) CXLVI (2)
146. How many prime numbers less than 50?
 50 
 50   
  (1) 13 (2)
147. When any fraction is divided by itself, then the result will be________?
 
 
  (1) 0  
  (3) 1  
148. Find the number of squares in a 2 × 2 grid
 2 × 2 
 2 × 2  
  (1) 4 (2) 5
149. Which of the following Venn-diagrams correctly describes the relationship amongst, “Men, Women, Human”.
 
 
 
   
  (1) (2)
 
 
150. Choose the odd pair from the given altern
 

  (1) Day : Night / :   
  (3) Small : Large / :   
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(2) 18 (3) 20 

’ means ‘×’ then 20 ÷ 4 – 2 is equal to –  
20 ÷ 4 – 2   

20 ÷ 4 – 2    
(2) 28 (3) 27 

then its perimeter will be – 

  
(2) 24 (3) 16 

digit odd number, I am a common multiple of 3 and 7 and I have 4 factors. Find me.
3 7 4 
3 7 4 

(2) 21 (3) 10 
Which of the following Roman numerals is equal to 166? 

   
(2) XCLVI (3) CXVIL 

How many prime numbers less than 50? 

(2) 14 (3) 15 
When any fraction is divided by itself, then the result will be________? 

 
 (2) same fraction / 
 (4) None of these / 

squares in a 2 × 2 grid 

(2) 5 (3) 6 
diagrams correctly describes the relationship amongst, “Men, Women, Human”.

  
 

(2) (3) 

Choose the odd pair from the given alternatives – 

 
 (2) Right : Wrong / 
 (4) Bottom : Down 

****** 
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 (4) 21 

 (4) 30  

 (4) 20 
have 4 factors. Find me.  

 
 (4) 35 

 (4) CLXVI 

 (4) 16 

  
/  

 (4) 8  
diagrams correctly describes the relationship amongst, “Men, Women, Human”. 

 (4)  

 :    
 / :   

 



SPACE FOR RO 
 UGH WORK 



SPACE FOR ROUGH WORK
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